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1. s D EERHARE]
E1TH 1SR E2TH 1SR E2TH258
S | EHA R 6/1~30 6/1~20, 6/26~30
2. REVIDIIRINL
F1THISE | L2TH1SF | £2TH28F & &t
—RREEY ® — 4,109.5 3,355.0 7,464.5
3. f@CeWELEEVWCADBREZITDZH (SABSRRE : HBRRISLE R (ChERS)
£1ITH1SF £2TH 15 E2TE28)F
m E A AN 2R 6/17,6/18,6/19,6/20 - —
E LU A K 6/25,6/26 — _
il o B H R B — - -
4, MEERDEER(CRDT—4 (EFAIEE)
FLITHISFE | F2TH18F | £2TH25)F TEREIEEAE
B H R E (C) - 874 881 800°CHLE
EUABEHBE () - 153 153 B2200°CIU T
BARBDCOorE 2 (ppm) — 3 4 100ppmit
5. BEA XD VEREFER CRIESER : 208 (C16)
FL1ITHISE | L2TH1SF | £2TH28F P o
Al & fiI & — fEZERIEC FEZTHITE
A E H — 6/12 6/7
MEFRNAESSNLH - 6/29 6/29
FLoa X (g/Nm®) — <0.001 <0.001 0.08
7 & B A6 W (Nm?/h) - <0.02 0.02 1 e
ZERBiLY (ppm) - 26 30 250
s k& (mg/Nm?) - 2.0 4.0 700
6. HEHRHPDE 1 AFS D FEAITERER CRISESERT © 14F(C L)
EL1ITH1SE | E2TH1SF | £2TH28F HE B o
A & fiI & — fEZSRIEC -
A E H — 6/12 —
AEFBRAEBSNIZH — 7/19 -
SA4AF2 > 8 (ng-TEQ / m®N) - 0.00047 — 1
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